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1.An engineer is troubleshooting local ringback on a Cisco SIP gateway The gateway is not ignoring the 
SIP 180 response with SDP from the service provider, and the far end device is sending the 180 with SDP 
to play ringback from the IP address specified m the SDP. 
Which configuration change must be made on the gateway to resolve the issue? 
A. Router(conf-voi-serv)# dlisable-early-media 180 
B. Router(conftg-sip-ua)# disable-early-media 180 
C. Router(con(-voi-serv)# no disable-early-media 180 
D. Router(config-sip-ua)# no disable-early-media 180 
Answer: B 
 
2.Refer to the exhibit. 

 
A standard local route group is configured for long-distance calls. Calls from building A succeed, but calls 
from building B fail. On the system. Each building has is own device pool. The DNA tool is used to test the 
configuration. 
How is this issue resolved? 
A. Change the partition of the route pattern 
B. Add a sip trunk inside route group Standard Local Route Group. 
C. Modify the route pattern to add a prefix of 91 
D. Add a local route group on the device pool configuration. 
Answer: D 
 
3.Refer to the exhibit. 
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ILS has been configured between two hubs using this configuration. The hubs appear to register 
successfully, but ILS is not functioning as expected. 
Which configuration step is missing? 
A. A password has never been set for ILS. 
B. Use TLS Certificates must be selected. 
C. Trust certificates for ILS have not been installed on the clusters 
D. The Cluster IDs have not been set to unique values 
Answer: D 
 
4.If all patterns below are configured in Cisco Unified Communications Manager which would be used 
when dialing the pattern “123”? 
A. 12! 
B. 12X (urgent priority set) 
C. 1XX (urgent Priority Set) 
D. 12[2-5] 
Answer: D 
 
5.An administrator is troubleshooting call failures on an H.323 gateway via the CLI. 
To see signaling for media and call setup, which two debugs must the administrator turn on? (Choose 
two). 
A. debug H.245 asn1 
B. debug H.323 message 
C. debug H.225 asn1 
D. debug H.225 media 
E. debug H.323 asn1 
Answer: A,C 
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